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lnstructions to Private candidates only: This question paper cantains two sections" Ansvver

SECI/O/V I quesfrons in the answbr-boak pravided. SECflO/V ll, lnternal Examinatian qtresfions

must be answered in the question paper itself. Fallow the detailed instructians given under

SECI/OAI I/

Part A

Answer any fen quesflons.

Each questian carries 2 marks.

1. Distinguish between contract costing and job costing. ( any two)

2. Annual demand for a component is 5000 units. Set up cost per batch is Rs. 75. Annual

rate of interest is 15%. Cost of production per unit is Rs. 80. Calculate economic batch

quantity.

3. What are the advantages of cost plus contract?

4. Explain the costing procedure in transpo(ation costing.

5. From the following information. calculate kilometres and total passenger kilometres:

Number of buses :4

Days operated in a month : 30

Trips made by each bus :4
Distance of route : 50 kms ( one side)

Seating capacity : 5G Passengers

Normal passengers travelling: 80% of capacity

6. What is Abnormal Effectiveness?

7. What is Abnormal Loss?

8. What is contribution?

Illl r'e&&llsrcElll lll



g. State the limitations of break even analysis"

.

10. Define marginal costing' Point out any merit of marginal costing'

11. What is Material Budget?

12. Difference between Performance Budget andZBB' (any two)

Part B

Answer anY six questlons'

Each question carries 5 marks'

13. Following particulars relate to the year ended 3Afi612A19
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work expenses were 60% of prime costs, Administrative overhea<ls were 30% of works

cost,ThevalueofjobscompleteclduringtheyearwasRs.2.s0,000'Prepare
consolidated Job account to find out Profit or Loss during the year and consolidated

Work in Progress account'

AtransportCompanyisrunning4busesbetweentwotownswhichare50kmsapart,Seating
14.

capacltyoteaonousis40passengers'Thefol|owingparticularswereobtainedfromtheirbooksfor

Materials used

Wages

Chargeable exPenses

IVlaterials returned to stores

April 2019

Wages of Drivers and cr:nductors

Office staff salarY

Cost of Diesel and oil

Repairs and maintenance

Tax and lnsurance

Depreciation

lnterest and other charges

Completed Jobs

Rs. 50,000

35,000

7,500
tron

2,40,000

1.00,000

4,00,000

80,000

1,60,000

2,60,000

2,00,000

Work in Progress

10,000

7,000

500

a
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ActualpassengerscarriedwereT5%oftheseatingcapacity.Allthefourbusesrunonalldaysofthe
month"Eachbusmadeoneroundtripperday'Findoutthecostperpassengerkilometre'

Explain the various methods used for apportionment of ioint costs to joint products

AfactoryproducesproductXandYisobtainedasaby-product.Thejointcostof
manufacture amounts to Rs 15,000. subsequent expenses for producing X was Rs 3'800

andY.Rsl,T00.TotalamountrealisedonsaleofYwasRs3,500'ltyieldedaprofitof20

16
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18.

Calculate

a, P1V Ratio
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% on selling pnce. You are requirecl to prepare accounts relating to Ptociitct X and ProCrct -

'/ after apportionment of joini cost

Explain the distinguishing t'eatures of absorption costing.

The sales and profit of a company during two years were as follows

1 ear Sales { Rs. )
'Ibtal Ciost (Rs.)

:()20 1,20,00(r 1.08.()fi}

202.1 1.4{.i,00(r 1.24.()()0

b. BEP c. Sales to earn a profit of Rs 20,000/-

19. You are given the following data

Budgeted Output- 80,000 units

Fixed Expenses- Rs. 5,00,000

Variable cost per unit - Rs.10

Selling Price Per Unit Rs. 20

Draw a Break Even Chart showing the Break Even Point.

2A. From the following information find out the overhead costs at 90% capacity and a[so determine the

overhead rates.

Expenses at 50% capacity

Variable Overheads:

lndirect labour 15,000

lndirect materials 9,400

Semi-variable overheads:

Repairs and maintenance (60% fixed) 5,000

Power (50% variable) 20,000

Fixed overheads:

Office expenses 20,000

Depreciation '!5,000

Others 8,000

Estimated direct labour hours 1, 40,000

21. Describe the various steps in budgetary control.

Part C

Answer any two quesflons.

Each questian carries 15 marks.
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smart construction company commenced a contract work on 1;1i2fi19' The ft''rlloWit'tg'

partrculars are given in connection with contract No' 505 lor the year ending 31i1212A19'

Amoi.rnt

Contract Price 18'00'000

Work Certified upto 15l12n}1g 12'00'000

Contractee's account( Cash received) 9'60'000

Materials issued 3'60'000

Direct wages Paid 3"10'000

Overheads incurred 18'000

Sub contract cost 16'000

Depreciation on plant for the whole year Z4'AAB

Cost of Extra Work 7'000

Recoveries for Extra Work 8'000

Materials at site an 31112ftA19 6'000

The expenditures given above include expenses incurred after December 15th also" such

expenses are:

Amount

Materials used 21'000

Direct wages 8'000

Cverheads 1'500

DePreciatioP 800

P repare Contract Account

Jeeva chemicals manufacture and sell their chemicals produced by three consecutive processes'

The products ofthese processes are dealt with as under1J

ln each Proces$ 4ak oilhe

per tonne, frcm Process ll,

weight Put in is lost and 0% is scraP

Rs.5 Per tonne and from Process lll

which from Process I realised Rs 3

, Rs.6 tonne.

The fotlowing Parllcula rs relate to APril 2019

Process rocess I

Material used (Tonnes) 400 160

to

3140

Material Cost Per Tonne (Rs) 10

g Expenses ,152

Process lll

1,260
7

2,898

Due to industrial depression , a plant is running at present, at 50% of its capacity' The

rocess lllI Process I

1 00%

66213%

331!34/o

to Next Process

to Warehouse for

24

following details are available

Prepare Process CostAccounts showing cost per tonne of each process'



Particulars Gost of production per unit

Direct material 12

Direct Labour {1

Variable overhead <3

Fixed Overhead t2

Total cost <8

Production per month

Total cost of Production

Sales

20000 urrit

t 1,60,000

{ 1,40,000

Loss: t 20,000

An exporter offers to buy Q000 units per month @ 6.50 p*r unit and the company

hesitates to accept the offer for fear of increasing its already operating losses. Advise

whether the cornpany should accept or decline this offer?

25. Prepare a cash budg*t for the period from 201 8, July to Septernber, from the given inforrnation.

h{ay June JulY Augr"rst SePtember

Total Sales 1,50,000 1,70,000 1,80,000 1,60,000 1,85,000

Total Purchases 80,000 78,000 1,10,000 1,20,000 1,00,000

Wages 6,000 7,500 8,800 9,000 8,400

Adrnn. Expenses 6,000 6,200 6,800 9,500 4,700

Selling expenses 4,000 4,500 4,300 4,400 5,200

Additional information:

1 . 2A% of total sales and 2A% d total purchases are on cash terms.

2. Time lag for making payments to creditors is two months and that for receiving

payments from debtors is one month.

3. An amount of Rs. 1, 20,000 should be given to bank as repayment of loan in

August and an amount of Rs 7500 will be collected on interest and dividend in the

same month.

4. Wages are paid in the same month.

5. Aclministrative expenses are paid after one rnonth and selling expenses are paid on

a time lag of half month.

6. Every month installment on machinery purchased is to be paid Rs. 4,500.

7. Cash and bank balance on 1st July, 20"18 was Rs.8,000.
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